| Millyéuuchoose London and not UnitedStates?
e |'ve got family there.
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Complete the next sentence. Use the verbs in brackets and the rig
form going to. Look at the example. TR

1.1am going to get (get) some sleep. .- e
2.1 0M oG 1O g0 (go)in to the office early. _—
& S __she ﬁc}-"x’ﬂﬁ“{ = (have) something to eat? : "
© 4, WeClY& \nt oW TO X\ (not/run) out of time. ¥
5. A we PPL o (be) really early if we set off now.

, Complete the next sentence. Use the verbs in brackets and the right form Will. Look at the
example.

1. You will not drop (not/drop)that, if you're not careful.
2. Things - W aOF O < (not/get) better.

3. Ot she =t (say) that one more time?
4. Ll they "ONE  (move) to Spain when | retire?
§. 1.0 NOYT L\l OWE ) at this point.(not/give up)

In each question, you will see a sentence using the “will” future form. Change the sentence intoa

“be going to” form. See the examples.

Il see him tomorrow. |'m going to see him tomorrow.”
She isn't going to buy any more chocolate. She won't buy any more chocolate.
. n O b I 4 7alq Ay L \ - ﬂ'\e L_,LKCO(\ ? e —
1. Will we buy some bacon? ewwe onNg YT boy. =C .
2. The cougar is not going to attack you T he ay Ll ) ﬂO_'I.L. j(@Ne ﬂacgﬁw J
the Yyaee —

et 1 am Ot anung TO uwn
3. | won't win the race golng i
4. The cougar is not going to attackyou The  COCgaw ) Lot —atd 10;!4-49-’*'_“ :

him a pen for his birthday? LS _loud e =
5. Are wé going to buy p o T
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@ He can't swim, doeshe? ~(u\ (& ?

@ She was a student, isn'tshe? o N A §h9 1

(®) Thomas saw a movie, wasn'tshe? -\ chn v e ¢
(8 He couldn tanswer the questions. did-he? ¢ oL\
@ Mr. Smith was late, wasa’tshe? -~y n ! } he

@ They had dinner, were-they?

[ Z Find the 12 tag questions to complete the sentences
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1. You study English, d@\i\\\' !_!ﬁ(‘-U ?
2. They were busy, \WEXEN T 1 W

3. It's two o'clock, \Sih' [

4.You don't drive, dt’)

5=Sheisateacher,i’:j1"\“9& h& ?

6. We aren't late, Clye (L€
7. Mr. Smith has a car, L 51 ¥
8. They weren't late, L 1.C
9. | was right, L\iﬂﬁ[ﬂ‘f 2 )
10. Today is Monday, Ish't \_'f ?
11.The phone rang, Adnt (¢

12. He didntwin,_did_he
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J Imagine it is the year 3000. Describe how things are then.

at people can/can’t do; what they may wear.
at education is like:

students have/don’t have to do, must/must not do, etc. o
‘What teachers have/dont have to do, must/must not do, etc. o qonl
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